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“The Ocean”

Reading Comprehension — Short Stories
Directions: Read the story. Then answer the questions below.

The ocean is big.

The ocean is blue.

The ocean is made of water. T ,“’
The ocean has waves.

Some waves are small. Some waves are very small. They are tiny!
Some waves are big. Some waves are very big. They are huge!

In some places, the ocean is very deep.

In those places, you cannot see the bottom.

Questions:
1) Is the ocean small or big? 2) What color is the ocean?
A. The ocean is small. A. blue
B. The ocean is big. B. yellow
C. brown
3) What is the ocean made of? 4) What does tiny mean?
A. air A. small
B. water B. very small
C. fire C. big
D. very big




Questions (continued):

5) What does huge mean?

small
very small
big

very big

oCow>

7) Which words can we use to
describe the ocean?

l. blue
Il. deep

lll. happy

A. lonly
B. land Il
C. ILIl,and I

6) Why can you not see the bottom

of the ocean in some places?

A. because the ocean is dirty

B. because the ocean is deep

C. because the ocean has many
waves

8) Waves can be

I. big
II. huge
11, tiny

A. lonly
B. land Il
C. I, 1, and Il

Do you like the ocean? What do you like about it? What don’t you like about it?




Answers and Explanations

1)

2)

3)

4)

5)

6)

7

8)

B
The first line of the passage says, “The ocean is big.” Therefore (B) is correct.
Since the ocean is big, it is not small. Therefore (A) is incorrect.

A

Near the beginning, the passage says, “The ocean is blue.” Therefore (A) is
correct. The passage does not provide information to support answer choices
(B) and (C). Therefore they are incorrect.

B

Near the middle, the passage says, “The ocean is made of water.” Therefore
(B) is correct. The story does not provide information to support answer
choices (A) and (C). Therefore they are incorrect.

B

Near the middle, the passage says, “Some waves are very small. They

are tiny!”” We can understand from this information that tiny means very small.
Therefore (B) is correct. Tiny is not just small, it is very small, so (A) is
incorrect. Tiny is very small, and small is the opposite of big, so this rules out
(C) and (D). Therefore they are incorrect.

D

In the middle, the passage says, “Some waves are very big. They are huge!”
We can understand from this that huge means very big. Therefore (D) is
correct. Huge means very big. Small is the opposite of big, so this means (A)
and (B) are incorrect. Huge means very big, not just big, so (C) is incorrect.

B

At the end, the passage says, “In some places, the ocean is very deep. In
those places, you cannot see the bottom.” We can understand from this that
you cannot see the bottom of the ocean in places that are very deep.
Therefore (B) is correct. The passage does not provide information to support
answer choice (A). Therefore it is incorrect. The passage does say that the
ocean has big waves and small waves, but it does not say that you cannot
see the bottom of the ocean because of the waves. Therefore (C) is incorrect.

B

Near the beginning, the passage says, “The ocean is blue.” This supports
option (1). Near the end, the passage says, “In some places, the ocean is
very deep.” This supports option (II). The passage does not say that the
ocean is happy. This eliminates option (lll). Therefore (B) is correct.

C

In the middle, the passage says, “Some waves are big.” This supports option
(). Then it says, “Some waves are very big. They are huge!” We can
understand from this that some waves are huge. This supports option (Il).
The passage also says, “Some waves are very small. They are tiny!” We can
understand from this that some waves are tiny. This supports option (lll).
Therefore (C) is correct.



